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(1) BEBBYADYATICE. RBTOLBA>TVET D (108)
100x7=700 10X5=50
X 700+50=750 %2 750

(2) ZEDBYAIRZENEST. TOEDIVEYESABNELE.
212 WBDZ>TVETH [105]

70x3=210

f51)
X 750—210=540 %3z  540M

(3) IVEYAEB-TRICRBE. BIEHErANS00H<NELL.
EDT.BESDEE>TWE/— . BHZEICLELE,
Q0D /—r63EDESE. BEIEVBHIRYELED Lol

540+300=840

Hl) 90x3=270
= 540+30=570 B2 570H
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(1) 4x1x5=20 (2) 5x9x2=90 (38) 9x0x9=0

(4) 2X8X3=48 (5) 4X9x2=72 (6) 3X3X3=27
(7) 5X(4—-2)X7=70 (8) 3X(9—6)x6=>54

(9) 9X(8—4)%X2=72 (1) 7X(7—3)%Xx5=140

O | Vv BHENZS tmea

(1) 8x2x5=8x%[10|=(80 (2) 3X6X3=6X%X| 9 |=|54

(3) OX2%x4=9x%x| 8 |=|72 (4) 8X0Ox7=7x%| O |=| O

(5) 3X| 8 |x2=48 (6) 2X| 7 |X4=56

(7) 1X| 9 |X9=81 (8) 4%| 5 |xX5=100

(9) 7X| 2 [X4=T7X| 8 |=56 () 3X| 9 |[X3=9%| 9 |=81
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EZLED (1m2a)

(1) 6x( 5 )=30 (2) 3x( 9 )=27 (3) 4x( 3 )=12

(4) 7x( 2 )=14 (5) 2x( 8 )=16 (6) 8x( 1 )=8

(7) 9X( 4 )=36 (8) 6X( 6 )=36 (9) 4x( 5 )=20

(10) O9X( 6 )=54 (1) 3x( 8 )Y=24 (12) 7x( 5 )=35

(1) 2x( 6 )=12 (14) 8x( 4 )=32 (15) 86X ( 7 )=42

(1) 4x( 4 )=16 (N 5x( 9 )=45 (18 3x( 5 )=15

(19) 5x( 5 )=25 (200 7x( 3 )=21 @) 9x( 3 )=27

(2) 6X( 7 )=42 (23) 2% ( 2 )=4 (24) 5x( 7 )=35

(25) 8x( 6 )=48 (26) 4x( 9 )=36 (21) 8x( 8 )=64

(28) 3x( 7 )=21 (29) 6X( 4 )=24 (30) O9X( 9 )=81
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